
22.6. FORMULARIO 95

Wp = γwRΦeH
3
D

R =
γp/γw(
γp

γw
− 1

)3

Ac = 0.75HS

Bm = a = 2`p

Pd(z) = λPS0 si z < Ac

Pd(z) = PS0 si z > Ac

PS0 = αγwS0

S0 = HD

(
1− Ac

Ru

)

α = 2Cf

(
Ru

HD
cosαs

)2

λ = 0.8 exp
(
−10.9

Bm

L

)

Cf = 1.45

P (z) = max (µγw (S0 + Ac − z) , 0)

µ = aexp
{

c
(

HD

L − b
)2

}

a = 0.446, b = 0.068 y c = 259.

Ru

Hc
= Au [1− exp {BuIr}]

Rd

Hc
= Ad [1− exp {BdIr}]

p1 = 0.5(1 + cos β)(α1 + α∗ cos2 β)γwHD

p3 = α3p1

p4 = α4p1

pu = 0.5(1 + cos β)α1α3γwHD

α1 = 0.6 + 0.5
[

(2kh)
sinh(2kh)

]2

α2 = mı́n((1− d/h0)(HD/d)2/3, 2d/HD)

α3 = 1− h′
h

[
1− 1

cosh(kh)

]

α4 = 1− h∗c
η∗

η∗ = 0.75(1 + cos β)HD

h∗c = mı́n(η∗, hc)

α∗ = máx(α2, αI)

αI = αI0αI1

αI0 =
{

HD/d si HD ≤ 2d
2 en otro caso

αI1 =
{

cos δ2/ cosh δ1 si δ2 ≤ 0
1/(cosh δ1

√
(cosh δ2)) en otro caso

δ1 =
{

20δ11 si δ11 ≤ 0
15δ11 en otro caso

δ11 = 0.93(Bm/L−0.12)+0.36[(h−d)/h−0.6]

δ2 =
{

4.9δ22 si δ22 ≤ 0
3δ22 en otro caso

δ22 = −0.36(Bm/L− 0.12) + 0.93[(h− d)/h−
0.6]

q = Q
√

gH3
S

Q = 0.082exp
{
− 3R

γBσγgeo

}

R = Fc

HS

γBσ =
{

cosθ si θ < 37o

0.79 si θ > 37o

pow = Now

N = exp
{
− (

R
c

)2
}

c = 0.91γpow

γpow = 0.875− 0.0025θ


